Year 6: Week 4, Day 1
Use equivalence to compare fractions

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. If possible, watch the PowerPoint presentation i
with a teacher or another grown-up.

OR start by carefully reading through the
Learning Reminders. s

o amiie

2. Tackle the questions on the Practice Sheet.

There might be a choice of either Mild (easier) or S —
Hot (harder)! el B R 5
Check the answers. e u= |

3. Finding it tricky? That’s OK... have a go with a grown-
up at A Bit Stuck?

4. Have | mastered the topic? A few questions to T
Check your understanding. b
Fold the page to hide the answers! g,

How many times must Dan muttiply 0,048 by 10 10 get 48,0007

What number is one hundred times smalket than 0.47

© Hamilton Trust
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Practice Sheet Mild
Equivalent fractions

Use the fraction wall to help you join each fraction on the left to the equivalent
fraction in its simplest form.

2
8
3
6
3
9
3
12
4
12
S
10
4
8
6
8
2
6
4
6
8_
12
9
12

Challenge

1
Write some fractions which are equivalent to 7 but not on the fraction wall.

© Hamilton Trust
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Practice Sheet Hot
Equivalent fractions

; . , 1
Ring all the fractions that are equivalent to 7

2
0

[\~
-
(=)
(=

Ring all the fractions that are equivalent To%

3
12

Ring all the fractions that are equivalent to %

o

20

100

U‘lll—\
(=] (=]

&
o
(=
ol
N
(=]
NIU'I
(=]
N
93]

Complete this list of fractions equivalent to %

50 000 » O O
48121620l:|

L1

(@]

[en}

[y

o

o
[
s

Challenge 1 )

Ava says that she can write % % % ond% as an equivalent number of fiftieths.

Do you agree with her?

Challenge 2

Write at least 5 fractions which are equivalent to % .

© Hamilton Trust
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Practice Sheet Answers

Equivalent fractions {mild)

li:,\lw Elm QA A 0l OOl ;lU'.I :ln{h Blw Ll Do oo

Challenge

Write some fractions which are equivalent to %tha’r are not on the fraction wall.
3 4 3

2R I IONT| =6
€g. 8 12 6 20 24 etc

Ordering fractions (mild)

Wk D= Gl

SN W

Order smallest first: 3% %

YL LIRS Dt

Il
2Oy = e
ﬂ d d

Order smallest firsf:% 1 %

D= ST = Ll i 03 LIRS
] 1
i~ v vkl v i

Il

Order smallest first: % i

© Hamilton Trust




Practice Sheet Answers

Equivalent fractions (hot)

% The final fraction in this list can be any that is equivalent to £

Challenge 1

Ava is partly correct: % = % and %= % buf% and % cannot be writen as fiftieths, because the
denominators are not factors of 50.

Challenge 2)
4 6 8

. : 2 , 12
Fractions equivalent to 5 could include: 15 15 2§ %3 30 and so on

Comparing fractions (hot)

(=R
i1

> 3o b e~ o

N8 5 S 8
tl
|
=

1.
2.
3.
4.
5.
6.
7.
8.

i

Wi DI T IRIUS = WD Wl Bl
DO|T BN Gl DN DO b b |01
b 5 8 58 5 5l

BN e e el o2 [ N R S )
Imeb > ¢l [ [ XN, 11X

D= D2 D DOl =
Bl B B o g
ORI Lol Wb Glp
Solm Sl I o

@I s HRIU ayjy Gal=
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Check your understanding
Questions

Write the missing numbers.
S/6=4/o

%0 =5/

/10 > Y/ |
|:|/32 > D/S

Write three fractions which are equivalent to 3/5.
Write three fractions which are equivalent to %/s.
Now add 3/4 and %/s.

Fold here to hide answers

Check your understanding
Answers

Write the missing numbers.

2le= /12

5/10 = "%/20

/10 >Yo eq. %0 > /2 Y0 > Vs

R/a>Hs  eg. 5> /s, /32> /s,

For the 3" and 4 of these many different answers are possible, are children able to explain their
choice?

Write three fractions which are equivalent to 3/,.

E.8. /s, °/12, ¥2/16, /20, **/ 0.

Write three fractions which are equivalent to %/s.

E.g. %/10, ®/15, 8/20, %25, 2°/s0.
Now add 3/sand %/s. 13/0.

The lowest common denominator is twentieths:
3a+2)s =)0+ 8f20=23/20= 13/

© Hamilton Trust



Year 6: Week 4, Day 2
Ratio (1)

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Start by reading through the Learning Reminders.

They come from our PowerPoint slides. At U m— - —
b 2on o 2310 24, ?
2. Tackle the questions on the Practice Sheet. PO —
There might be a choice of either Mild (easier) or | i ;
Hot (harder)! B
Check the answers. e o
| | — e '3

3. Finding it tricky? That’s OK... have a go with a
grown-up at A Bit Stuck?

ooy |

4. Have | mastered the topic? A few questions to N R
Check your understanding. -
Fold the page to hide the answers! g

How many times must Dan muHipty 0.048 by 10 1o get 48,0007

What number is one hundred limes smaller than 0.47

© Hamilton Trust
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Practice Sheet Mild
Pizza recipe

Adapt the recipe to make:
2 pizzas
8 pizzas
1 pizza

50049 strong flour

[0g dried yeast

1/2 feaspoon of saft
[/2 teaspoon of sugar
4 tbsp of ofive oif
250m{ {ukewarm water

Topping:

4009 tin of fomatoes
_200gq gvafed cheese
| clove of garfic

| onion

/
~
~
~
~
~
~
o~
-
=5
C
2
~
&
o~
—
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Practice Sheet Hot
Pizza recipe

Adapt the recipe to make:
2 pizzas
8 pizzas
6 pizzas

- 5009 strong flour
10g dried yeast
1/ teaspaon of saft
1/ teaspaon of sugar
4 fbsp of ofive oif
250m{ fukewarm water

_Joppina:
_400g tin of tomatoes
2009 grafed cheese
_Lcloveofgarfic

| onion =

A
=
~
~
~
~
o
~
&
o~
&
o
~
~
=
[




Practice Sheets Answers

Pizza recipe (mild and hot)

Base 4 pizzas

2 pizzas

8 pizzas

Flour 500g

250g

1000g/ 1kg

Yeast 10g

59

20g

Salt 1/2 tsp

1/4 tsp

1 tsp

Sugar 1/2 tsp

1/4 tsp

1 tsp

Qil 4 tbsp

2 tbsp

8 tbsp

Water 250mi

125ml

500 ml

Topping

Tomatoes |400g 100g

200g

600g

800g

Cheese 200g 50g

100g

300g

4009

1/4 clove
garlic

1 clove
garlic

Garlic

1/2 clove
garlic

1 1/2 cloves
garlic

2 cloves
garlic

Onions 1 onion 1/4 onion

1/2 onion

1 1/2 onions

2 onions

© Hamilton Trust




A Bit Stuck?
Taste Test

Things you will need:
» Two glasses

- Squash

* Ruler

What to do:
1. Pour Tem of squash into a straight glass, then top up with another
6cm of water (7cm total).

Look at the colour and taste it.
Pour 2cm of squash into an identical glass.
How much water do you predict needing to add for it to taste the

same?

Try itl If it tastes the same (and the colour/shade is the same), the
squash and water have the same ratio as the first glass you made.

If you were to make double the amount again in a really tall glass,
what quantity of squash and water would you need?

Complete this table, including a few of your own rows using the
same ratio.

Water Squash

lecm écm

2cm

25cm

e — e
( S-t-r-e-t-c-h: '|
. To be really accurate, you could weigh the squash and water... How |
" much does 1cm of water — in your chosen glass — weigh? So, what
'_weight of water should you add...?

© Hamilton Trust




Check your understanding
Questions

Orange paint is mixed using this ratio of red and yellow paints:
red : yellow
2:7
Sam uses 4 litres of red.
Assuming he uses the correct amount of yellow, how many litres of orange paint will he make?

This list of ingredients for chilli soup recipe is for 4 people. Adapt it for 6 people.
2 garlic cloves

2 chillies

1 onion

2 red peppers

200g sweet potato

400g tinned tomatoes

500ml vegetable stock

Fold here to hide answers

Check your understanding
Answers

Orange paint is mixed using this ratio of red and yellow paints:
red : yellow
2:7
Sam uses 4 litres of red.
Assuming he uses the correct amount of yellow, how many litres of orange paint will he make? 18
litres If he uses 4 litres of red then he must use 14 litres of yellow to maintain the red : yellow ratio.

This list of ingredients for chilli soup recipe is for 4 people. Adapt it for 6 people.

2 garlic cloves 3 garlic cloves

2 chillies 3 chillies

1 onion 1/, onion

2 red peppers 3 red peppers

200g sweet potato 300g sweet potato
400g tinned tomatoes 600g tinned tomatoes
500ml vegetable stock 750m| vegetable stock

All amounts are ‘scaled up’ by a factor of 1.5, or multiplied by 1.5.

© Hamilton Trust



Year 6: Week 4, Day 3

Ratio (2)
Each day covers one maths topic. It should take you about 1 hour or just a little more.
1. If possible, watch the PowerPoint presentation with -.=r=zmmem=
a teacher or another grown-up. @_—

OR start by carefully reading through the

Learning Reminders. 2 AR s T

2. Tackle the questions on the Practice Sheet.

There might be a choice of either Mild (easier) or o ]l
Hot (harder)! s e
Check the answers. _ P r
3. Finding it tricky? That’s OK... have a go with a Y
grown-up at A Bit Stuck? s

4. Have | mastered the topic? A few questions to

Identify the value of the ‘4’ in the fotlowing numbers:
Check your understanding. ‘ m
Fold the page to hide the answers! et
How many times must Dan multiply 0.043 by 10 to get 48,0007

What number is one hundred limes smalles than 0.47

© Hamilton Trust
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Practice Sheets Answers

Ratio (mild)

Colour 2 red to 1 blue Colour 3 blue to 2 red Colour 3 blue 1o 1 red

Colour 5 red to 3 blue

Accept a

of shadin

there are 15 red
squares and 9 blue
squares [15:9 is
equivalent to 5:3)

Ratio word problems (hot)

In the class of 28 children 7 are aged 10 and 21 are aged 11.
The ratio of 11 year old to 10 year old children is 21:7 or 3:1

In a class of 27 children 18 have school dinners and 9 have packed
lunch.

The ratio is 18:9 or 2:1.

In the class there are 20 boys and 10 girls.

In a class of 60 there are 40 boys and 20 girls.

© Hamilton Trust




A Bit Stuck?
Car Wash

Things you will need:
- A pencil
- 20 pound coins

What to do:

- Jess and Emily wash Mum'’s car. They are paid £8. Jess takes £6 as she did most of
the work and Emily has £2.

+ Calcuate how much they each should be paid for washing these cars. They split
the work up in the same way. Use the coins to help you.

a £4  Jess earns Emily earns
- Al

£12  Jess earns Emily earns

£16 Jess earns Emily earns

» Sunil and Harprit wash their big brother’s car. They are paid £5. Sunil earns £3 and
Harpit earns £2.

» Calculate how much they each should be paid for washing these cars. They split
the work up in the same way.

B SN
e £10 Sunil earns Harprit earns

£15 Sunil earns Harprit earns

£20 Sunil earns Harprit earns

- ————— ————r—— —_——
S-t-r-e-t-c-h:
What was the ratio of what Jess earned compared to Emily? __ :
What was the ratio of what Sunil earned compared to Harprit? __ :

Learning outcomes:
« | can solve ratio problems.
+ | am beginning to describe the relationship between quantities as a ratio.

© Hamilton Trust




Check your understanding
Questions

Harprit has coloured 2 squares in red and the rest in blue.
The ratio of red to blue squares is 1 to 2.

How many squares are blue?

How many squares has she coloured in total?

Faith has coloured 6 squares red and the rest in blue.
The ratio of red to blue is 3 to 1.
How many squares did she colour altogether?

Write three pairs of numbers with the ratio 3 to 2.

Fold here to hide answers

Check your understanding
Answers

Harprit has coloured 2 squares in red and the rest in blue.
The ratio of red to blue squares is 1 to 2.

How many squares are blue? 4

How many squares has she coloured in total? 6

Faith has coloured 6 squares red and the rest in blue.
The ratio of red to blue is 3 to 1.
How many squares did she colour altogether? 6 + 2 = 8

Write three pairs of numbers with the ratio 3 to 2.
e.g.6and4,9and 6,12 and 8

© Hamilton Trust



Year 6: Week 4, Day 4
Circles

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Start by reading through the Learning Reminders.

They come from our PowerPoint slides. o e e
el |r

i
2. Tackle the questions on the Practice Sheet. O ————
There might be a choice of either Mild (easier) or | e i
Hot (harder)! IR |
Check the answers. R i

. m:*'-mw»wm-w

3. Finding it tricky? That’s OK... have a go with a A= eamp
grown-up at A Bit Stuck? £ ; |
e — {
(B | j

4. Think you’ve cracked it? Whizzed through the Practice Sheets? Have a go at
the Investigation...

© Hamilton Trust
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Practice Sheet for All (Mild)
Investigating circle relationships

Some children have been drawing and measuring circles.
They measured the radius and diameter with a ruler, then the circumference as
accurately as possible with a piece of string.

They recorded their measurements in the table below.

Kayleigh makes a good generalisation, saying, "The circumference of the circles
always gets bigger as the diameter gets bigger.”

Jay has also spotted something interesting. saying, "The circumference of the circle
with a diameter of 10cm was almost exactly 30cm - that's neat because 30 is 3
times 10."

Was Jay's observation just a coincidence or is there a pattern here? Investigate the
ratio of the circumference of each circle to its diameter, filling in the last column
of the table. You can use a calculator - divide the circumference by the diameter
to give an accurate ratio.

Circle radius (cm) Diameter (cm) Circumference (cm)| Ratio of
circumference:
diameter

3 6 19.2
39 /7.8 229

6.5 13 40.5
23 46 145
5 10 301
8.4 16.8 537
7.5 15 47.8
3.5 7 22.0

Use this space to tell Jay whether he's really onto something, or if his observation
was a coincidence after all:

© Hamilton Trust




Practice Sheet for All (Hot)
Investigating circle relationships - Challengel!

So, the ratio of the circumference to the diameter in any circle is always
approximately 3.1. This ‘constant’ value is called Pi' — the Greek letter .

It is an irrational number - the decimal places go on and on without repeating.
The value of Pi to 2 decimal places is 3.14.

We can write this relationship in words:
The circumference (C) of a circle is equal to Pi () multiplied by the
diameter (d).

Or we can write a formula using symbols:
C=nxd

Taking a value of 3.1 for it (or 3.14 if you are happy multiplying with 2 decimal
places), use this formula to answer these questions:

What is the circumference of a circle with diameter 10cm?
What is the circumference of a circle with diameter 100cm?
What is the circumference of a circle with diameter 3cm?
What is the circumference of a circle with radius 4cm?
What is the circumference of a circle with diameter 12cm?

The London Eye has a radius of 70m.
Roughly how far do you travel when you go once round it?

A wheel is Tm round the edge and is used to measure distances.
What is the distance from the edge to the middle?

© Hamilton Trust




Practice Sheet Answers

Investigating circle relationships (mild)

Circle radius (cm)

Diameter (cm)

Circumference (cm)

Ratio of
circumference:
diameter

3

6

19.2

32

3.9

7.8

229

2.94

6.5

13

405

312

2.3

46

14.5

3.15

5

10

301

3.01

84

53.7

32

7.5

15

47.8

3.19

35

7

220

3.14

All the ratios of circumference to diameter round to 3, therefore Jay was
onto something with his observation.

Investigating circle relationships - Challengel (hot)

3.14x 10 =31.4cm lor 3Tcmiif Piis 3.1).
3.14 x 100 = 314cm (or 310cm if Piis 3.1).
3.14x 3 =9.42cm (or 9.3cm if Piis 3.1).
Diameter = 2 x 4 therefore 3.14 x 8 = 25.12cm (or 24.8¢m if Piis 3.1).
3.14x 12=37.68cm (or 37.2 cmiif Piis 3.1).
Distance once around London eye = 3.14 x 140 = 439.6m (or 434m if Piis 3.1).
The distance from the edge to the middle is roughly 15.9cm (or 16.1em if Piis

3.1).
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A Bit Stuck?
Going around in circles

Things you will need:

Pencil, ruler, circular objects, string, scissors

What to do:

1. Draw a circle - you could draw around a mug/small plate, etc.

2. Label the radius and diameter.

3. Explain how you could find the diameter if you know the length
of the radius.

4 Go ahead and measure the radius, then calculate the diameter.
Measure the diameter to check your calculation.

5. Use damp string o measure the circumference of a small plate.

6. Now measure its diameter.
Calculate the circumference by multiplying the diameter by 3.14.
How close was your damp string measurement?

7. Repeat with other plates/ cups etc.

T N e T,
( S-t-r-e-t-c-h: -\

- Alfie measured the circumference of a football centre-circle. It was
55metres!
If he has to mark out the centre circle on a different pitch, what

\ should the radius of the circle be? :

C—————————————
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|
v | Ellipse in a circle v
- f 1
A l 1. Draw a circle of radius 5em. x
2. Pick a point about 1.5 or 2cm in from the circumference of the circle at ; |
the bottom. Draw straight line rays to the edge of the circle. i
You need to draw about 24 of these. l
el =
_ -
ofe ‘
| |
= 1 "
|
i
! o
- |
A\ |
|
X
o |
| )
X | |
, |
S
R ‘ 3. Using a sharp coloured pencil draw a line at right angles to the ray, where each ray l :
3 reaches the circle. Draw it so that this line touches the circumference of the circle. E
) 4 Sometimes you will need to draw this line from the ray to the left and sometimes ' d
|| you will need to draw it to the right. L
| 5. When you have drawn all 24 lines, you will have created an ellipse.
= I
|
| Compare your ellipse with your partners. )
o Discuss what you notice about the shape of the ellipse in relation to where you drew your ||
| original point. X
o
| a
X
’ I
.'
A | |
| Rl
|
|
| i
w |
ofe .I
8 ; AR o . | \
~__ Chdllenge = : . h
g N o |
x Create a new eliipse that is ‘shorter and wider' or longer and thinner' than
your first one. b
W _ o
- - -
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Year 6: Week 4, Day 5
Quadrilaterals

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. If possible, watch the PowerPoint presentation
with a teacher or another grown-up.

OR start by carefully reading through the -

Learning Reminders. 2 G SRTLLS e S
2. Tackle the questions on the Practice Sheet. sy
There might be a choice of either Mild (easier) or Hot | e |
(harder)! E
Check the answers. WELIE :

3. Finding it tricky? That’s OK... have a go with a
grown-up at A Bit Stuck?

4. Have | mastered the topic? A few questions to e
Check your understanding. b s
Fold the page to hide the answers! o s

How many times must Dan multiply 0.048 by 10 to get 48,0000

What aumber is one huhdred times smaller than 043
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Practice Sheets Answers

Quadrilateral sort (mild)

A = Pardllelogram
B = Trapezoid

C = Kite

D = Square

E = Rhombus

Quadrilateral challenge (hot)

1. No quadrilateral can have exactly 3 right angles. Exactly 2 are possible

(see Q2), as are exactly 4, but not 3.

. Shapes created will either be a form of trapezium, or a kite, or an
irregular quadrilateral.

. Kite

. No quadrilateral can have exactly 3 equal sides. Exactly 2 are possible
(e.g. trapezoid), as are exactly 4 (square, rhombus) but not 3.

. Kite

. Pardllelogram

. Yes, various examples may be drawn

. Yes, various examples may be drawn
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A Bit Stuck?
What's special?

Things you will need:

» A sheet of quadrilaterals

» Scissors

* Ruler

- Right angle measurer (you could use the corner of a
sheet of paper or a book)

- A Carroll diagram sheet

» Glue stick

+ A pencil

What to do:

—

Cut out the quadrilaterals.

N

Take one and discuss where it belongs on the diagram.

3. Once you are agreed, stick it in the correct place on the sheet.

Repeat with each quadrilateral, one at a time.

S-t-r-e-t-c-h:
Choose a different way to sort the quadrilaterals. !

Learning outcomes:

+ | can identify and describe properties of quadrilaterals.
+ | can sort quadrilaterals according to their properties.
- | am beginning to find my own way to sort quadrilaterals.

© Hamilton Trust
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What's special?




A Bit Stuck?
What's special?

Symmetrical

Not symmetrical

Has a right
angle

Does not
have a right
angle




Check your understanding
Questions

Mystery quadrilaterals
» | have one pair of non-equal parallel sides. What am 1?

| have two pairs of equal sides, but no sides are parallel. Two opposite angles are equal but not
the other two. What am I?

| have four equal sides but no right angles. What am I?

¢ | have two pairs of parallel sides and no right angles. What am I?

Fold here to hide answers

Check your understanding
Answers

Mystery quadrilaterals
e | have one pair of non-equal parallel sides. What am I? A trapezium.

e | have two pairs of equal sides, but no sides are parallel. Two opposite angles are equal but not
the other two. What am I? A kite.

» | have four equal sides but no right angles. What am 1? A rhombus.

¢ | have two pairs of parallel sides and no right angles. What am I?
A parallelogram.

Children will find it helpful to sketch the shapes in questions like these.

© Hamilton Trust



What to do today

IMPORTANT Parent or Carer — Read this page with your child and check that you are happy with what
they have to do and any weblinks or use of internet. |

1. Read a formal job application
e Read Big Cats Job Application
e What strengths has Fred got that will fit the job? What three things
would you ask him to tell you more about if you interviewed him?

2. Learn about the Subjunctive Form

* Use the PowerPoint or Revision Card to learn about the subjunctive
form.

* Look back in the Big Cats Job Application and try to highlight examples
where the subjunctive has been used for requests or the ‘if...were’
pattern.

* Now use Subjunctive Practice and write some of your own sentences.

Well done. Share your highlighting and answers with a grown-up.

3. Now for some writing.
* Pick one of the Possible Jobs. Write a letter like Fred’s to apply for it.
(You can make things up!)
¢ Include some sentences that use the subjunctive.

Try the Fun-Time Extras
* Role-play a job interview for one of the Possible Jobs. Can you include

one character who would be really good and one who would be really
terrible?

® Think of your dream job. Write and draw about what it would involve
doing.

© Hamilton Trust Week 4 Day 1




Big Cats Job Application

Fred Fletcher

Post applied for Keeper of big cats at London zoo

Start date 1** January 2020

Please give your reasons for applying below.
Explain why you believe you are suited to this post.

| believe that if | were appointed, | would be an excellent zookeeper,
especially if | were working in the big cat enclosure.

I am a person who will obey instructions to the letter. | prefer that things
be explained carefully and that reasons be given so that | understand the
instructions clearly. But, once this has happened, | will never forget what
I have been asked to do and I will keep doing it faithfully and consistently.
I love animals and, in particular, members of the cat family. Everyone
who knows me, including my teachers, insist that I listen most carefully
when the subject has anything to do with cats. | have always loved cats —
the bigger the better as far as | am concerned. If | were to work with big
cats, that would fulfil my life’s dream.

I do not mind messy work or unpleasant tasks. | suggest that some
people avoid smelly environments or get uncomfortable working in hot or
enclosed spaces. My own brother is like this. If | ask that he help to muck
out the pigs’ enclosure on our farm, he will refuse! But | have plenty of
experience in this sort of task and do not mind.

| ask that | be considered as a very strong candidate for this post. You
will never find someone who will work harder or be more diligent, or
more conscientious and committed to the animals.

Signed and dated | Fred Fletcher 20" June 2019

© Hamilton Trust Week 4 Day 1




Revision Card — Subjunctive

Subjunctive Form

If | were a teacher, | would be kind.
We insisted that he sit still.

She requested that she run the race again.

Requests

Look at these requests.
What do you notice?

We ask that students waik in school,

I demand that he answer my question.
We request that doorways be kept clear.
The Head insists that everyone write in pen.

I suggest that he listen carefully to me.

J Verbs in simple
form (walk,
answer, be)
Request Verbs

ask
command
demand
insist
request
suggest

The word that joins
the parts of the
sentence.

If...were

Look at these sentences.
What do you notice?

{ would go if | were younger.
If he were not so mean, he would buy one.
| wish the computer were working.

Suppose she were here. What would you say?

She acts as If she were the Queen.

—
Always were
whoever it's about.

{instead of was).
\ Formal sounding.

if
asif
wish
suppose

e SR

The sentences are |
about something
desired or J
£ |mag|ned._
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Subjunctive Practice
Subjunctive - Requests

Make your own formal sentences using that and these verbs. (Remember: to
keep the verb in the simple form whoever is doing it)

1. demand e.g. | demand that she listen to my reasons.
2. request
3. suggest
4. insist
5. recommend
6. propose
Re-read your sentences. Which sound ok without 'that'? Can you change the
verb form to make them more informal?
Subjunctive — If/Were

Make your own formal sentences using these patterns. (Remember, in the
subjunctive: always use the word ‘were’, never use the word ‘was’)

1. if/were
2. | wish/were
3. Suppose/were

4. Asif/were

© Hamilton Trust Week 4 Day 1




Possible jobs

Professional Snake venom
pet-cuddler milker

lceberg mover

Dog surfing
Instructor

Professional

queuer

Pet food taster

Fortune cookie | Colour-inner

Writer

for comic books

© Hamilton Trust
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Letter of Application

Write to apply for one of the jobs.
Try to use at least one example of the subjunctive as a request and at
least one of the subjunctive in the if...were pattern.

. 0. 8 8 8 a8 5 0 0 4 0 8 & 0. 0 8 9 0 9.0 0 _ 0 8 0.0 8 O 0.0 0. 8 " s 0 8 " *_ e e 8 @ s 8 8
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Job Application - ANSWERS

Fred Fletcher

Post applied for Keeper of big cats at London Zzoo

Start date 1% January 2020

Please give your reasons for applying below.
Explain why you believe you are suited to this post.

| hot or enclosed spaces. My own brother is like this. If | ask that he

| You will never find someone who will work harder or be more
diligent, or more conscientious and committed to the animals.

| believe that if | were appointed, | would be an excellent zookeeper,
especially if | were working in the big cat enclosure.

I am a person who will obey instructions to the letter. | prefer that
things be explained carefully and that reasons be given so that |
understand the instructions clearly. But, once this has happened, |
will never forget what | have been asked to do and I will keep doing
it faithfully and consistently.

I love animals and, in particular, members of the cat family. Everyone
who knows me, including my teachers, insist that I listen most
carefully when the subject has anything to do with cats. | have
always loved cats — the bigger the better as far as | am concerned. If
I were to work with big cats, that would fulfil my life’s dream.

I do not mind messy work or unpleasant tasks. | suggest that some
people avoid smelly environments or get uncomfortable working in

help to muck out the pigs’ enclosure on our farm, he will refuse! But
I have plenty of experience in this sort of task and do not mind.
| ask that | be considered as a very strong candidate for this post.

Signed and dated | Fred Fletcher 20" June 2019
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What to do today

IMPORTANT Parent or Carer — Read this page with your child and check that you are happy with what
they have to do and any weblinks or use of internet.

1. Read and think about an advert
e Read the child president advert and Applicant Information.
® Do you think this (imaginary) scheme is a good idea? What could be its
advantages? What problems could it create?

2. Practise finding the subjunctive
* Use the Revision Card to remind yourself about the subjunctive,
* Find and highlight examples of the subjunctive in Applicant Information.
* Challenge yourself to find examples of the passive voice and formal
vocabulary as well.

Well done. Share your highlighting with a grown-up. Explain to them what you
have found. (You can check some of your answers at the end of the pack)

3. Now for some writing
* Decide 3-5 actions that you would take if you were president.
* Use Writing prompts to plan some writing.
e Write your application.

Try the Fun-Time Extras
* Interview other people to find out what they would do if they were
president.
* Make a drawing to show how the world would have improved a year
after you were president.

© Hamilton Trust Woeek 4 Day 2




CHILD PRESIDENT REQUIRED

Must be between 7 and 1l years old

Must have a clear vision for their presidency
Term of presidency will be for one week and will include full

law-making, financial and organisational resources

Interested applicants should contact childpresident@wgo.org

© Hamilton Trust Week 4 Day 2




Applicant Information

Applications may be received from any child. The committee insists
that applicants be aged between 7 and 11 years old at the point of
application. No other ages are eligible for entry. Applications must be
written in standard English and should directly address the title: 'If |
were president...' Applications will be judged for their clarity and the
originality of their content. The judging committee recommends that
applicants describe between three and five actions they would take.
The committee also requires that applications be not more than 300
words in length. It is also essential that applicants be not related in

any way to the judging committee.

Upon receipt of the application, the committee shall give due and
careful consideration to the merits contained. It is vital that the
applicant’s vision for the presidency be clearly conveyed. Were an
application to be successful, the applicant will be contacted at the
address provided, and arrangements will be made for them to

commence their presidency.

The presidential term shall be for one week. Appropriate law-making
powers and associated resources will be assigned to the Child

President during this term.
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Revision Card — Subjunctive

Subjunctive Form

If | were a teacher, | would be kind.
We insisted that he sit still.

She requested that she run the race again.

Req uests Verbs in simple )
) form (walk,
Look at these requests. / answer, be) g
What do you notice? |
Request Verbs |
We ask that students walk in school. ask
- command
| demand that he unsvser my question, demand
insist
We request that doorways Se kept clear. request
suggest
The Head insists that everyone write in pen. 3 w
= The word that joins |
I suggest that he listen carefully to me. the parts of the
sentence. i
A, |
If...were Always were
whoever it's about.
Look at these sentences. {Instead of was).
What do you notice? Formal sounding.
{ would go if | were younger. if
asif
If he were not so mean, he would buy one. wish
suppose
| wish the computer were working. 2l
Suppose she were here. What would you say? The sentences are
about something
. desired or
She acts as l_f she were the Queen. imagined.
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Writing prompts

Write about your proposed 3-5 actions. Describe why
they are important. You are trying to sound credible *
and clear.

Compose as many sentences as you can using the
subjunctive form.

These sentence stems may help you:

If | were president for the day, | would...
If I were successful, | would

I would insist that ...

It would be vital that ...

CHALLENGE: Can you also write some of your sentences
in the passive voice?

CHALLENGE: Can you include some particularly formal
vocabulary?

*credible means believable, able to be trusted to do what they say.
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Child President Application
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Applicant Information - Analysis

Applications may be received from any child. The committee insists that
applicants be aged between 7 and 11 years old at the point of application.

No other ages are eligible for entry. Applications MUt WHERIRSERGaM

ERgiSh and should directly address the title: 'If | were president...’

The judging committee recommends that applicants describe between three
and five actions they would take. The committee also requires that
applications be not more than 300 words in length. It is also essential that
applicants be not related in any way to the judging committee.

Upon receipt of the application, the committee shall give due and careful
consideration to the merits contained. It is vital that the applicant’s vision for
the presidency be clearly conveyed. Were an application to be successful,
the applicant will be contacted at the address provided, and arrangements
will be made for them to commence their presidency.

The presidential term shall be for one week. AppropHate law maKing powers
term.

Subjunctive Form

DICE (not every example)

Formal Vocabulary (not all examples)
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What to do today

IMPORTANT Parent or Carer — Read this page with your child and check that you are happy with what |
they have to do and any weblinks or use of internet. |

1. Read a poem
* Read If | were a king. It's a poem that uses the subjunctive.
 Highlight some examples of the subjunctive in the poem.
* What do you like about the poem? Is there anything that you dislike
about it? Can you spot any patterns? Which is your favourite verse?

2. Learn the poem by heart
* Read Top Tips for Learning a Poem by heart.

* Try learning at least three verses by heart. Challenge yourself to learn
the whole poem.

3. Now for some writing
* Make up some extra verses for the poem.
e Choose new countries and make up lines that rhyme with them. Use
Country names if that helps. Try to come up with at least six new ideas.
* Choose your best ideas and write your poem out carefully.

Try the Fun-Time Extras
* Make a recording or film of you performing your poem or of you reciting
the original off by heart. Send it to somebody else.
* Make illustrations to accompany your poem or the original.
* Find out more poems by AA Milne. You may know some already. You
could start looking here:
https://www.familyfriendpoems.com/poet/aa-milne/poems/
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If | Were King
By A. A. Milne

| often wish | were a King,
And then | could do anything.

If only | were King of Spain,
I'd take my hat off in the rain.

If only | were King of France,
| wouldn't brush my hair for aunts.

| think, if | were King of Greece,
I'd push things off the mantelpiece.

If | were King of Norroway,
I'd ask an elephant to stay.

If | were King of Babylon,
I'd leave my button gloves undone.

If | were King of Timbuctoo,
I'd think of lovely things to do.

If | were King of anything,
I"d tell the soldiers, “I'm the King!”
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Top tips for learning a poem by heart

Read the poem aloud several times slowly.
Copy the poem out a couple of times.

Be strategic. Pick a poem with a pattern, metre and rhyme
are much easier to learn by heart than free verse.

Learn and internalise the ‘story’ in the poem
Understand the poem by knowing every word’s meaning

With a card, cover everything but the first line of the poem.
Read it. Look away, see the line in the air, and say it. Look
back. Repeat until you’ve ‘got it.’

Uncover the second line. Learn it as you did the first line, but
also add second line to first, until you’ve got the two.

Then it’s on to three. Always repeat the first line on down, till
the whole poem sings.
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There are 195 countries in the world. Here are some to get you going.

Afghanistan
Albania
Algeria
Andorra
Angola
Antigua and
Barbuda
Argentina
Armenia
Australia
Austria
Azerbaijan
The Bahamas
Bahrain
Bangladesh
Barbados
Belarus
Belgium
Belize
Benin
Bhutan
Bolivia
Bosnhia and
Herzegovina
Botswana
Brazil
Brunei
Bulgaria
Burkina Faso

© Hamilton Trust

Country names

Burundi
Cabo Verde
Cambodia
Cameroon
Canada
Central African
Republic
Chad
Chile
China
Colombia
Comoros
Congo
Costa Rica
Cote d’lvoire
Croatia
Cuba
Cyprus
Czech Republic
Denmark
Djibouti
Dominica
Dominican Republic
East Timor
Ecuador
Egypt
El Salvador
Equatorial Guinea
Eritrea

Estonia
Eswatini
Ethiopia
Fiji
Finland
France
Gabon
The Gambia
Georgia
Germany
Ghana
Greece
Grenada
Guatemala
Guinea
Guinea-Bissau
Guyana
Haiti
Honduras
Hungary
Iceland
India
Indonesia
Iran
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What to do today

IMPORTANT Parent or Carer — Read this page with your child and check that you are happy with what
they have to do and any weblinks or use of internet.

1. Read a poem
e Read Jack’s Tale by Judith Nicholls.

* Read the Poetry Questions. Think about your answers and then write
them as clear sentences.

2. Learn about performing a poem
e Watch Michael Rosen’s tips about performing a poem.

https://www.youtube.com/watch?v=RvV23xoZRkI
* Use Performing Notes to make notes about what he says.

3. Prepare a performance
* Read Jack and the Beanstalk by Roald Dahl.
* Pick either of the poems and prepare a performance. Try to think about
all of Michael Rosen’s tips.
* Giver your performance to somebody else. Ask them to give you
feedback using the Evaluation Sheet.

Try the Fun-Time Extras
* Film your performance and share it with somebody else.
* Find some more poetry by Judith Nicholls, Roald Dahl or Michael Rosen.
You could start looking here:

https://childrens.poetryarchive.org/poet/judith-nicholls/
https://www.michaelrosen.co.uk/videos/
https://www.michaelrosen.co.uk/hypnotiser/
https://allpoetry.com/Roald-Dahl
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Jack’s Tale
Judith Nicholls

Sun rises before me,

dazzles pathless flight.

In the corner of each eye

mists drift and fade,

dissolve against a lightening sky;
the tops of oaks sprawl

like giant undergrowth below.

I dare not pause to gaze,

I dare not fall!

Behind, as if in smoke,

the castle disappears.

My life is ruled by noise:
heart drums inside my chest,
the giant thud of angry steps
invades my ears.

Beneath one arm

a squirming weight of feathers,

crooked between waist and elbow,
squawks our whereabouts into the dawn,
scratches tales of panic into flesh.

All thoughts are on escape;

all golden dreams have flown!

Ahead, at last,

green stalks emerge from cloud
then cobwebs downwards,
stitching earth to sky.

| leap, grasp branches urgently
with outstretched hand;
half-slide, half fall

to blessed earth below,

to blessed land.

tae
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What to do today

IMPORTANT Parent or Carer - Read this page with your child and check that you are happy with what
they have to do and any weblinks or use of internet.

1. Read two poems
e Read Fuss Fuss Fuss and Goldilocks on CCTV
* What do you like about the poems? Is there anything that you dislike
about them? Can you spot any patterns? Do they raise any questions or
leave any puzzles?

2. Answer questions
* Read and think about Questions A and B. the questions get harder so
challenge yourself to keep going. Don’t give up too easily!
e Write your answers in clear sentences.

3. Now for some writing
* Read the Writing Brief, choose one of the poems and make notes to plan
your writing.
e Write your recommendation for Year 5 carefully.

Try the Fun-Time Extras

e Canyou make up a new poem based on a fairy-tale character?
* Can you practise performing either of these poems?

© Hamilton Trust Week 4 Day 5
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Goldilocks on CCTV
John Agard

There she was on the news,
Miss Goody Two Shoes
caught on CCTV.

Don't look so shocked.
Of course you know who -
who else but Goldilocks!

Broke into a house
of suburban grizzlies,
a nuclear family

from the sound of it.
Daddy Bear, Mummy Bear
and whiz kid Baby Bear.

There she was, tucking in
to a bowl of their muesli.
Every move on CCTV.

How she vandalised a chair
in the nursery
then tried out their jacuzzi

not to mention the towels
marked His and Hers.
And everywhere a trail

of golden curls mixed with fur.
A forensic goldmine.
It appears the police found her

in perfect slumber
at the scene of the crime —
which wasn't very clever.

But the Bears decided to drop
charges for the sake of
happy-ever-after.

And so fairy-tale justice
was seen to be vindicated

and Goldie's parents were sedated.

p.10, Goldilocks on CCTV
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Questions A - Fuss Fuss Fuss or The Goldilocks Rap

1) Which fairy tale is the poem based on?

2) How does the first line grab our attention?

3) Can you think of two reasons why Goldilocks might be called ‘G’ in
the poem?

4) What is the refrain? Why do you think these words were chosen?

5) What do you notice about the language used in this poem. Is it
formal or informal? Give an example from the text when you explain
what you think.

6) How does the poem twist the original fairy tale ending?

7) Describe the rhythm of the poem. How could this help perform it
aloud?

8) This poem has a choice of titles. Which would you choose? Explain
why.

© Hamilton Trust Week 4 Day 5




Questions B - Goldilocks on CCTV

1) What clues are there that this version of Goldilocks and the Three
Bears is set in the modern world?

2) Why do you think the words, ‘Miss Goody Two Shoes’ start with
capital letters? What does it mean?

3) Look at the third stanza. What two separate noun phrases are used
to refer to the three bears?

4) What do you think of ‘fairy-tale justice’? Does Goldilocks get away
with her crimes?

5) What do you notice about the rhyme scheme and rhythm of this
poem? What is the impact of this?

6) Does the poet want us to like Goldilocks? Give examples from the
poem which justify your answer.
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Writing Brief

Write a short recommendation for one of these poems to suggest it
to a Year Five group who wants to perform a poem for an assembly.

Tell them why it would be good to perform and give them some ideas
as to what they could do.

You could use your notes from Michael Rosen from yesterday.

Make notes to plan your writing here.

Recommended Poem:

Reasons it would be good to perform (3-5):

Ideas for performance (3-5):

© Hamilton Trust Week 4 Day 5
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POSSIBLE ANSWERS

Questions A
Fuss Fuss Fuss or The Goldilocks Rap

1) Which fairy tale is the poem based on?

Goldilocks and the Three Bears

2) How does the first line grab our attention?

It talks to us; it says "Hey’ to get our attention; the exclamation mark means that it must be said loudly
or energetically

3) Can you think of two reasons why Goldilocks might be called ‘G’ in the poem?

It sounds cooler/like a rap name & fits in with the rhythm easier/easy to rhyme

4) What is the refrain? Why do you think these words were chosen?

Fuss Fuss Fuss! It draws attention to the fussy nature of Goldilocks; the poem is about her and this is
what she does all of the time

5) What do you notice about the language used in this poem. Is it formal or informal? Give an example
from the text when you explain what you think.

The language is informal — any example including slang, contractions

6) How does the poem twist the original fairy tale ending?

Instead of running away, Goldilocks makes the bears porridge so tasty that they decide to open a diner
with Goldilocks as cook.

7) Describe the rhythm of the poem. How could this help perform it aloud?

It has a strong, regular rhythm. It would be easy to say as the words fit well into the rhythm; you could
say them quickly like a rap

8) This poem has a choice of titles. Which would you choose? Explain why.

Any answer that is justified by examples from the text.

Questions B
Goldilocks on CCTV

1) What clues are there that this version of Goldilocks and the Three Bears is set in the modern world?
References to technology — on the news, CCTV, jacuzzi/ references to modern culture — muesli, police,
scene of crime, his and hers towels/ modern terms and slang- ‘whiz kid’, ‘suburban grizzlies’, ‘drop
charges’

2) Why do you think the words, ‘Miss Goody Two Shoes’ start with capital letters? What does it mean?
It is like Goldilocks’s name/nickname; it means that she is very well-behaved or too good to be true.

3) Look at the third stanza. What two separate noun phrases are used to refer to the three bears?
suburban grizzlies & a nuclear family

4) What do you think of ‘fairy-tale justice’? Does Goldilocks get away with her crimes?

It was not fair. She got away with her crimes — there were no consequences or compensation

5) What do you notice about the rhyme scheme and rhythm of this poem? What is the impact of this?
They are irregular /keep changing, it sounds more like everyday speech/ it is harder to say with a strong
rhythm

6) Does the poet want us to like Goldilocks? Give examples from the poem which justify your answer.
No. He calls her ‘Miss Goody Two Shoes’. He says that we should not be ‘shocked’ that she has been
caught in the act. He uses the word ‘vandalised’ to make the breaking of the chair sound deliberate. She
does not seem to feel guilty ‘perfect slumber’ and is not ‘very clever’
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